| Efficiency vs Dxy |
0.2
<

5 S
B S A
< A T T

@.16:—----§------€ ------- R St S ALY UL AR
> R A S A S S

KT e S A A S S S S S
© oo : : : : : : : :

O e T e S S S
O N -
0.08F-
0.06F |
0.04
0.02
o+

Rati

¢ 0t 90- -

=
TT T T T 1T
hd
hd

09—525 50-15-10 -5 0 B 10 15" 30 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO

| Efficiency vs Dz |

—e— DQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

N 0.1
o

g)_ogf_" .........................................................
> F 5 5 5 : :
| ) R AR ST
@) r : : : D
:':'.-:').07: Tl g NI
o F : : :
006 fgifrof i Lk
X O S e . 1 | 1|
[ » . :
O.0M [k oo oo
003 [kt
o.oz_f— R S B4
OJ-.L'O:IIIIilllIiIIIIIIIII.IIII!IIII
T
xx
lND-

30 20 -10 0 10 20 30
TP dz (cm)

0.95



	Contents
	Page 1


